Example Data for Activity B.19
Task a:

Tc (A) =3.21 £0.05 mm; T (B) =1.90 £ 0.05 mm; T (C) = 2.99 +
0.05 mm.

Measurements of D, taken at a range of orientations:

Crater A: 2.881 mm, 2.901 mm, 2.803 mm, 2.834 mm,
2.785 mm, 2.848 mm, 2.842 mm, 2.839 mm

Crater B: 4.677 mm, 5.006 mm, 4.717 mm, 4.490 mm,
4.808 mm, 4.650 mm, 4.848 mm, 4.820 mm

Crater C: 5.500 mm, 5.837 mm, 5.061 mm, 5.635 mm,
5.174 mm, 5.899 mm, 5.274 mm, 5.249 mm

Task b:

Measurements of Dy, taken at a range of orientations:

2.525 mm, 2.567 mm, 2.541 mm, 2.535 mm

2.591 mm, 2.531 mm, 2.545 mm, 2.536 mm



